7,888

0 @

]

a‘@

Ne ApTUKYn HanmeHoBaHue Kon
1 Malika M8 6
2 |KC55-10 CoeanHUTENb KapaaHHbIN 1
3 Maiika M8x1 1
4 |KC26-04A TAra 1
5 Maiika M8 5
7 |KC30-05A MNnactmHa 2
8 bont M8x55 4
9 bont M6x16 4
10 ([KC30A-04A KoXKyx pemHsa 1
11 |KC30A-07 OrpaHuuunTenb pemHs 1
12 |KC42A-03A LNednektop B cbope 1
13 [KC55-24 JlonaTKa 1
14 |KC55-15 LWaiba 1
15 |[KC26-11 Agantep 1
16 [KC26-14 LLlecTepHAa yepBAYHaA 1
17 |KC26-12 Ban 1
18 [KC26-15 ApanTtep 1
19 Wrnot 2
20 |KC26-16 Kpbiwka 1
21 BMHT M6x16 2
22 |KC26-10A KpoHLwTenH 1
23 bont M8x16 3
24 laka M8 3
25 LWalba 2
26 |KC26-17 MnactnHa 1
27 |KC26-18 MpyXKnHa 1
28 |4LXP945 PemeHb 4LXP945 2
29 Bont M8x20 2
30 LWanba 2
31 |KC30-17 3axum 1
32 [KC30A-08 LWaiba 2
Moaenb
Cheroybopuyuk ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

| Page 1




Ne ApTUKYn HanmeHoBaHue Kon
1 |KC30-03C-01R PyyKa npaBan 1
2 |KC30-03-02 MNaHenb 1
3 Maiika M8 10
4 |KC30-03-44R KpoHwTenH

5 bont M8x40

6 bont M6x20

7 |KC21-02-2 BTynka

8 |KC40-28 Ponuk

9 |KCA28-04-03 KpenneHnue

10 bont M8x45

11 |[KC30-03-49 Tpoc

12 bont M8x35

13 WnanHT

14 |KC30-03-09 Pbluar

15 laka M10

16 |KC30-03-2(M4) |PyKoATKa

17 |KC30-03-11GGP |Pbiyar ynpaBneHusa gednekropom

18 larika M6

19 [KC30-03-45 Mpy*nHa

20 |[KCA28-04-14 TAra

21 |KCA28-04-04 Pblyar npaBbIn

//

PIRPIRPIRPIRPINIRPIRININIRPIRINI[PRIERININI(IFR[PAINININININININ|N|E-

22 |KC55-03-15 YNNoTHeHue
23 LWaliba
24 Bont M8x150
25 |KCA28-04-17 Cronop
26 |KC30-03-50 Wrnot
27 |KCA28-04-16 DKCLEHTPUK
28 |KC55-03-11 MpyXKnHa
29 BuHT M8x60
30 |KCA28-04-08 TAra
31 3aknenka
Moaenb
Cheroybopuyuk ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA

Page 2




Ne ApTUKYn HanmeHoBaHue Kon
32 |KC90-04-04A PykoATka 2
33 |[KCA28-04-10 Pbluar nesbii 1
34 Maiika M6 2
35 |KC55-03-05-6 BTysika 2
36 |KC30-03-14 KomnneKT nposoaos 1
37 |ASW-07D Bbikntouatenb 2
38 |KC30A-05-4 Tpoc ynpasneHua gediekTopom 1
39 |KCD26-06-2 Mpy*KnHa 1
40 |KC30-03-44L KpoHwTenH 1
41 BMHT M5x35 2
42 |KC30-03-08 Pbivar aguddepeHuymana 1
43 Marika M6 1
44 LLlaii6a 1
45 |KC30-03-06 bont 1
46 |KC30-03-05 KpOHLITENH pblyara 1
47 |KC30-02-06B Tpoc auddepeHumana 1
48 |KC30-03-32 Pyuka 1

49 [KC30-03-31 LWaliba pe3mHoBan 10
50 |[KC30-03-23 [epxxatenb 1
51 |KC30-03C-01L Pyuka neBas 1
52 |KC30-03-22B Ban npuBoga gednektopa 1
& 53 BuHT M6x10 2
a > 54 LWaii6a 2
' & 55 |KC30-03-24 Nanens 1
- \ 55 56 BonT M6x16 2
59 2 57 |KC30-03-26 KpbliwKa 1
W, 55 58 laitka M6 2
® _ i 6%6 59 [KC21-03-15 dapa 1
// 58 60 BuHT ST3.5%16F 2

6)
Moaenb
Cheroybopuyuk ST1387LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 3




Ne ApTUKYn HanmeHoBaHue Kon
1 |KC90-02-21A Pyuka 1
2 |KC55-02-25A MnactnHa 2
3 bont M10x45 2
4 bont M6x12 8
5 |KC30A-02-30 Ocb 2
6 |KC30A-02-01 3arnywka 2
7 bont M6x20 1
8 |KCM24-02C-19 |KpoHwTeiH 1
9 |KC21-02-2 BTynka 1
10 [KC21-02C-01 Tpocnk 1
11 |[KC40-28 Ponuk 1
12 Faka M6 1
13 |KC30A-02-02 [leTanb coegnHUTENbHAA 1
14 bont M8x20 4
15 Bont M8x40 4
16 LWaiba 1
17 |KC30A-02-29 OcHoBaHWe gBuratensa 1
18 laka M8 4
19 [Buratenb Loncin LC185FDS 4
20 |3LXP870 PemeHb 3LXP870 1
21 [KC30A-02-03 LWknBe 1
22 [KC21-02-36 LWalba 4
23 [KC90-02-16 LWknBe 1
24 LWalba 1
25 Bont 5/16-24x1 1/4 1
26 |KC30A-02-04A  |Kopnyc 1
27 bont M6x20 2
28 |KC30-02-12 HaKoOHeYHMK 1
29 |KC90-02-07 BTy/Ka nnactmkoBas 3
30 |[KC30A-02T-02 Kpbiwka 1
31 [KC55-02-05 Tara 1
Moaenb
Cheroybopuyuk ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 4




Ne ApTUKYn HanmeHoBaHue Kon
32 Bont M6x16 13
33 |KC30A-02-05 Kopnyc nogwmnHmka 2
34 |90-0415 MogwnnHmk 6200 4
35 Konbuo ctonopHoe 1
36 |[KC21-02-13 MNoawunnHuK B Kopnyce 1
37 |KC30A-02-06 BTynka 1
38 |KC21-02-12B [epKatenb guUcKa 1
39 |KC30A-02-07 LLlectepHAa manas 1
40 |[KC21-02-11A LMCK GPUKLMOHHDBIN 1
41 |KC30A-02-08 BTynka 1
42 |KC55-29 Cronop 1
43 |KC30A-02-9 Ban wecturpaHHbIn 1
44 |KC30A-02-10-2 [Ban NpOMEKYTOUHbIN 1
45 [KC30A-02T-3 3Be3ao4ka 6osbluas 1
46 [KC30A-02-11 3Be3g04Ka manasn 1
47 |[KC30A-02-12 BTynka 1
48 |085-26 Uenb 1
Moaenb
Cheroybopuyuk ST1387LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 5




Ne ApTUKYn HanmeHoBaHue Kon
49 [KC30-02-16A BTysika 2
50 Bont M6x16 4
51 |KC90-02-11 Kopnyc noawmnHuka 2
52 Maka M8 4
53 |90-0460 MogwmnnHmk 6205 2
54 |KC30A-02-14 BTynka 1
55 [KC30A-02-15 OuddepeHuman B cbope 1
56 |[KC30A-02-16 Ban 1
57 LWnoHKa 6x4x45 2
58 |KC30A-02-17 BTysnka 6poH30Bas 1
59 [KC30A-02-18 Bunka 1
60 |KC30-02-07 XpanosuK 1
61 |KC30-02-05 MpyXunHa 1
62 |KC30-02-06B Tpocuk anddepeHuymana 1
63 |KC30A-02-19 BTynka 6poH30Bas 1
64 |KC30A-02-20 Ban 1
65 |[KC30A-02-31 HakoHeuHuK 1
66 LWainba 12 1
67 LWaiiba 12 1
68 |KC21-02C-09 duKcartop 1
69 bont M8x30 1
70 |KC55-02-21A Ponuk HaTaxxutena 1
71 |[KC21-02C-10 KpOHLWTENH HaTsaKuTens 1
72 Bont M8x45 1
73 |KC30A-02A-05 |KpoHWTENH HaTaXutens 1
74 |KC55-01-24 BTysKa 1
75 |KC55-01-27 Ponuk HaTaXuTens 1
76 |KC55-01-26 LWarba 1
77 |KC21-02C-13 LWkme 1
78 Bont M6x20 1
79 |KC90-02-12 Kopnyc noawmnHumka 2

CHeroy6opLuk

Moaenb

ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

P

age 6




Ne ApTUKYn HanmeHoBaHue Kon
80 [90-0430 NogwnnHmk 6002 2
81 |KC90-02-15 MpyXMHA HaTAXKMKTENA 1
82 |KC30A-02-23 KpOHLWTENH LWKMBa 1
83 |KC30A-02-24 Brysnka 13x20x20 1
84 bont M8x16 2
85 Maiika M12 1
86 |KC21-02C-12 MpyXMHA HaTAXKMKTENA 1
87 3aknenka 2
88 |KC30A-02-25 MnactnHa 1
89 |[KC30A-02-26A  |KpbiwKa HUXKHAA 1
90 |KC30A-02-27 [eTanb KpenaeHuaA 1
91 Wrnot 1
92 [KC21-02C-17 Mpy*KnHa 1
93 |KC90-02-31 Ocb 1
Moaenb
Cheroybopuyuk ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 7




Ne ApTUKYn HanmeHoBaHue Kon
1 [KC90-03-01A KpOHLWTENH ryceHuLbl NeBbIn 1
2 |KC90-03-02A KpOHLWTENH ryceHnubl NpaBbIn 1
3 [KC90-03-03A Ocb nepeaHan 1
4 Bont M6x16 14
5 Maiika M6 14
6 |KC90-03-04 BTysaKa Bana 4
7 |KC90-03-05 LWanba 8
8 |[KC90-03-06 Ponunk ryceHnupbl Manbiit 4
9 |KC90-03-24 BTynka 4
10 [90-0419 NoawwnnHuk 6004-2RS 8
11 LWaiba 4
12 Lanba 4
13 bont M8x16 8
14 |XL-A lyceHunua 2
15 |KC90-03-07 3axkum 2
16 [KC90-03-08A Ponuk ryceHnupl 60nbLuoi 2
17 Maiika M8 6
18 [90-0460 MoawnnHuk 6205-2RS 2
19 [KC90-02-11 Kopnyc nogwmnHumka 2
20 |KC90-03-18 MnacTuHa ryceHuubl Nesas 1
21 bont M10x45 2
22 |KC90-03-10A Mepanb B cbope 1
23 |KC90-03-11A Kptok 2
24 |KC90-03-25 LWanba 2
25 [KC90-03-12 Ocb neganun 1
26 bont M10x70 2
27 |KC90-03-16 BTynka 2
28 |KC90-03-13 BTysKa 2
29 |KC90-02-07 BTy/Ka nnactmkoBas 4
30 |KC90-03-14 BTynka 2
31 Maiika M10 6
Moaenb
Cheroybopuyuk ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 8




Ne ApTUKYn HanmeHoBaHue Kon
32 |KC90-03-15 MpyXKnHa 2
33 Maka M8 6
34 bont M8x18 6
35 |KC90-03-19 MnacTuHa ryceHunubl Nnpasasn 1
36 [KC90-03-20 Ckoba npaBan 2
37 |KC90-03-21 KpoHLWTenH ckobbl NpaBbIi 1
38 |KC90-03-23 KpoHLWTEeNH cKobbl neBblii 1
39 [KC90-03-22 Ckoba neBas 2
40 Bbont M8x20 2
Moaenb
Cheroybopuyuk ST1387LET
Technical department Assembly drawing
Engineer, chief designer John Emerson Jr.
DYNAMIC DRIVE EQUIPMENT, USA | Page 9




O
@/@ 0
y o=

2 N\

Y/

ApTUKYn HanmeHoBaHue Kon
KCA34-01-01A |deka 1
KC42-01-02 MoN030K NAACTUKOBbIN 2

LWaiba 6
Malika M8 19
KCA34-01-10 MNonosok
Maiika M8
KC34-01-02 MnactnHa gekn
bont M8x16
bont M8x18
KC42-01-05A Kopnyc noglwmnHmka
SB205 MogwnnHuk SB205

KC42-01-04A

Kopnyc noawnnHuKa

KCA34-01-02

LLIHeKk npasbIit

Bont M6x20

KCA34-01-25 AjanTep WHeKa
KCA34-01-02A-06 |BTynka
Bont M8x18
KCA34-01-05 PeaykTtop
Maka M6
LLainba
KCA34-01-06A  |KpblabyaTtka
KC26-01-18 Bont M6x40
bont M6x30

KCA34-01-07R

KpoHLWTEeNH npaBsbliii

KCA34-01-07L

KpoHLWTENH NneBbli

KCA28-01-03A

LLIHeK neBbI

LWaiba

Bonat M8x20

Bont M8x25

BuHT ST4.2%9.5-F

KC55-01-21

[epatesib nonaTkm

RINISAININIRPIRIRPININIR|IPIOIRINIEININIPRINININ[O[(O|R|O|N

CHeroy6opLuk

Moaenb

ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 10




s

SV IR

/>
£ I/,y;..“,,,
@%« ®

|~ 4
A

@), V(&S

[ty

Ne ApTUKYn HanmeHoBaHue Kon
35 |KC42-01-20 Kopnyc nogwmnHumka 2
36 |SB204 MogwwnnHuk SB204 1
37 |KC42-01-22 LWkume 1
38 LWanba 1
39 Bont M10x25 1
40 LLinoHKa 1
41 |KCA34-01-09 LWainba nnactmkosas 2
47 |KCA34-01-14 BTynka pe3nHoBas 3
48 |KCA34-01-15 Konbuo aednekropa HUKHee 1
49 |KCA34-01-16 Konbuo aednekropa metannnyeckoe 1
50 [KCA34-01-17 ®uKcaTop pednekTopa HUKHUIK 1
51 |[KCA34-01-18 dukcatop aedpaekTopa BEpPXHUMN 1
52 bont M8x20 3
53 |KCA34-01-19 Konbuo ynaoTHUTEeNbHOE 1
54 |KCA34-01-20 Ban 1
Moaenb
Cheroybopuyuk ST1387LET

Technical department

Assembly drawing

Engineer, chief designer

John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA |

Page 11




Ne ApTUKYn HanmeHoBaHue Kon
1 [KCA34-01-05-01 |Kopnyc peayKkTopa npasbiii 1
2 Bont M10x15 1
3 CanbHuK 25x40x7 2
4 [90-0460 MogwnnHuk 6205 2
5 |KCA34-01-20 Ban 1
6 [90-0404 MogwnnHmk 6202 1
7 |KCA34-01-05-03 |[Mpoknagka pegykTopa 1
8 |KCA34-01-05-04 |LLectepHa pegyKTopa 1
9 LWnoHKa 1
10 |KCA34-01-05-05 |Kopnyc peayKtopa neBblii 1
11 bont M6x25 6
12 |KCA34-01-05-06 |Ban yepBA4HbIN 1
13 |[KCA34-01-05-07 |Btynka 1
14 |BE-51104 MNogwunHuk 51104 1
15 [90-0419 MoawnnHmk 6004 1
16 CanbHuK 20x35x7 1
17 |[KC42A-03A-1A |Kopnyc 1
18 [KC55-03-17 MpyXKnHa 1
19 LWalba 1
20 |[KC30A-05-2 MpyXKnHa 1
21 |KC30A-05-4A Tpoc 1
22 XomyT 1
23 |KC30A-05-3 Tara 1
24 |KC42A-03-2A MNpoKknaaKa 1
29 |[KC42A-03-3 Kosbipek 1
30 |KC21-23 LWarba 1
31 |[KC42A-03-4 PeweTKa 3aWwmTHaA 1
32 |KC55-26 LWarba 1
33 WnanHT 1
Moaenb
Cheroybopuyuk ST1387LET
Technical department Assembly drawing
33 32 31 30 Engineer, chief designer John Emerson Jr.

DYNAMIC DRIVE EQUIPMENT, USA | Page 12




